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N2 said to him; But this is a contradicted testimony

OVERVIEW

Testimony of witnesses can be disqualified in the following two ways:

A. 7wnon — a contradictory testimony. If two groups of 2°7¥ contradict each other
as to the veracity of an incident; where one group claims that it took place and the
other denies that it took place, neither testimony is accepted, and their testimony is
disqualified The X7 will shortly cite a dispute between X171 27 and X707 29
whether these two groups of 27V may testify in the future, or that they are
disqualified to testify in future cases as well for they are considered (possible) liars
(Po0n).

B. 7 — a refuted testimony. If the second group of 2°7¥ testifies that the first
group of 0>7v could not have possibly seen the incident at the purported time and
place (regardless of whether the incident took place or not); for at that same time
the first group of 07y where in fact together with the second group at a different
location. In this case of fnm, the second group is believed and the first group is
refuted, and become disqualified to be 27V in the future as well.

There is a dispute between X271 »2X as to when this disqualification becomes
effective. 2% maintains that the refuted (Pn2r) 2°7v, become disqualified
retroactively from the time of their testimony. Any testimony given by the 2>7¥
7M1 from their initial testimony (for which they were subsequently refuted) and
onward, is voided. X327, however maintains that they become 7109 only from the
time of their refutation by the a*»*177 2°7v, and onward.' Any testimony given prior
to their 7117 1s valid.

The case at hand: 12187 and Nwnaw are disputing the ownership of a property, each
one claiming that he inherited it from his parents. 723%7 had 27V that it once
belonged to his father and in addition that 723%7 made a 7P in this property. VAW
only had 2>7¥ that he made a 7P (contradicting the >7v of 32387 who claimed that

! There are two explanations in the X3 (in "2) why X271 maintains his (questionable) position (for seemingly since
these 0*7y certainly lied at the time of their testimony, they should become 2051 from that time onward). One is that
since the entire idea of 017 7v is a (¥17°17) novel concept (for why should we believe the second group more than the
first group); therefore we limit the w17°n as much as possible (W71 R7% 12 77 PR) and the power of the o> an DTy
to disqualify the 71 2>7v is limited to the moment of 77177 and onward. The second explanation is that if we were
to H09 them y9nY, then there would be losses (MmMp27) X7°09 to all those who used these 07 (in between the M7y
and 71117), for their documents of loans and purchases would be voided. See later footnote # 11.
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123%1 made the 7ip17). 1713 27 ruled that the two contradictory 177°9% M7¥ cancel out,
leaving 72187 with ownership on account of his Xni7aR 7. X217 disagreed and argued
that these 2°7v of 72187 were already disqualified and are completely discredited.
Moo will be discussing s'%27 view.

nooIN asks:
-(X39 NHNA MT OWY 3,38 97 NP N33) 121992 YD NN XA NN NYNIN MITY ININ INNAN NN

It is incomprehensible! Why is the testimony concerning parental ownership
(xnmax Mm7v) considered as a contradicted testimony? We can perhaps salvage
the part of the testimony where no contradictory testimony was provided; the

XNIAR MTY. MDOIN goes on to explain: For X219 maintains in 772197 P -
— DD NN NANDI ININ DI TYYT (837 PAnnn M7 BYWI X, 97 PATMv) T AT PI9I)
And in 9712 777 P92 that a refuted witness becomes disqualified from the time of
refutation and onwards; he is not 7109 retroactively from the time of his testimony -
— YININNT NYWN KON J09N0 K
Rather he is 9105 only from the time he was contradicted. The testimony that the v
gave prior to the actual 7117 (concerning other issues [not related to the 72177]) is valid testimony.
It would seem logical that this ruling concerning on¥ 7v, that 091 X371 82791 1807, should apply to
awnan v as well.” The disqualification of their testimony is not retroactive from the time of their
testimony, but rather from the time they were actually contradicted and onwards.” moomn

concludes the question:
— YINONN NI YININN NIT NNNANNK YININN YININNRT NNTIINN 912919Y )7 NHON)

And we should therefore assume that concerning their testimony regarding
consumption (7?11) where they were contradicted by the other group of 2”7V
who claimed that the other party made the 7117, they are indeed discredited and
cannot be believed; that testimony is disqualified. However concerning their
testimony regarding parental ownership where they were not contradicted; the
other 07V said nothing concerning parental ownership of the property, they are

not contradicted; and that testimony should not be disqualified. We should accept their
testimony that it belonged to his parents.

If we would maintain, that 091 X7 ¥791Y, then their testimony would retroactively be invalid
from the moment they stated it. At the time of their testimony they stated XniaX and 7n7°K
together; it was one testimony. Therefore, since part of their testimony is obviously disqualified

? In fact one may argue that the 2109 of wna7 is weaker than the 2109 of 7nr. If by a7 the 109 is only X272 1X2n,
then certainly by nwnon the disqualification of their N7y should only be 83371 187,
? By mar the terms X271 1X9% or 90931 X1 y1onb is referring to the 2109 of the 7y himself. By awnai, however
(according to X117 27), these terms refer to the disqualification of the M7y, not to the 0*7v at all.
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(at the time of their testimony), for it was contradicted; then anything else that they testified at
that time (7127 >72 70) is included in this disqualification. [There is a rule; a testimony
that is partially nullified becomes completely nullified.] If we maintain, however, X277 1o
5091 Ry, it would mean that after 7"2 heard all aspects of the case and found the 0°7v to be
contradictory, their testimony becomes void from that moment on, only.4 At the time of their
testimony, however, it should be considered a valid testimony.” It is just that we cannot
subsequently act on (part of) their testimony since it is contradicted by the other °a*7y and must
be disqualified. However this should apply only to the testimony that is subsequently being
contradicted. Any other testimony that they previously testified remains valid, since it was not
contradicted.’

moon will now prove that we can separate the two aspects of their testimony; the Xniax m7v and
7n2°Ox M7y, We can accept one, even when we discard the other.
— 1IN XD NN DY NN2AVN DY NN (0w &3 97 xnp xa3) NAIINA IIN 9NY

For this is what the X713 states in 573192 P75 concerning 2°7¥ who testified that an
individual stole and slaughtered an animal, which would require the thief to pay
four/five times the amount that he stole ("7 '7 "»9wn); if these 0>7v were refuted
(mn7) concerning the slaughtering, however they were not oM concerning the

theft; that testimony was not refuted by the o 7 077y -

— ANAVA 5 N3N HY YYD 92T 91 TINT 23 YY 9N
even though the o nmna o7y testified consecutively 91357 572 710, both on the
robbery and the slaughtering; both testimonies were offered consecutively without
interruption. This would seemingly make it into one testimony. Nevertheless the X nx there

maintains that —
— 0990 NPT NI MIINN NPT XNYY NONNNT 11D Xa9Y

according to X217, since it is from that time that they were am7; it is only from

then that they become %105, and not from any time before, therefore —
— ONHNR XY ONHON NDT NN DY DINHN DNRNINT NN'AVN

* It would therefore make no difference which group of o>7v testified first, or the order of their individual testimony,
whether they said Xniax first or in?°3x first. In all instances they become an nwnow M7y only after all the testimony
is presented, accepted and ruled upon by 7"2.
> This should be true even according to X701 27 who maintains that these 079 become 108 for future n17v. It is only
after the 7wnon that they become 2°7109 0*7v but not at the time of their N7y N7 (see MoOIN second question further
on, and footnote # 13).
% According to X7om 27 this will cause them to be disqualified as 2*7y in the future as well (on account that they are
qpw 7y po0). However neither they nor their testimony are disqualified retroactively.
7 If we maintain X271 1851 then at the time of the testimony there was no contradictory testimony, they were 277y
o™w2; therefore there is no ruling of 7212 7902 AN¥PH AVIW MTY. See 121 v MR 7210,
¥ 99297 75 70 — means the time that it takes to say the words 21 T5v 212w". If the interruption between statements
was less than that time, it is considered 712°7 >75 70; as one statement.
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concerning the slaughtering which they were o1 — 210X — they were indeed
ann; however concerning the robbery for which they were not amn they are
not considered %1 27V regarding the robbery.” This concludes the quote from the X3
We may derive from that &3, that (according to X217 that 7091 X177 82791 1X82n) it is possible to
separate the two aspects of their testimony even though they were offered simultaneously. The
M7y of 72213 remains a valid M7y even though it was said together with 72w M7y, which was
subsequently ami1. The same should hold true here. The M7y of &niaX should remain valid, even
though it was said together with the 7n%°>X N7y which was subsequently wnowi. Why then does
X297, who maintains 9091 X177 X27777 182n, argue on 1211 27 and claim that it is an nwWnow N7v.

mooin offers a qualified explanation:
— RO VTN NYYN NON 19 PN Hern omit 197 0Ivn ONa9T RPYL NAT NIYSHD

And according to the opinion [there] that the reason that X239 maintains 2m7 7¥
D051 KIT KA XOn, is because the law of a»yr 7y is a novelty, and you cannot
implement this v17°1, only from the time when this v17°n takes place and
onwards; i.e. from the time of the n17. According to this opinion it is understood.
There is no question. M0IN initially assumed that since by 1157 it is 091 X177 827777 1807, therefore
by nwnon it is also X279 1XOn; therefore we had the question. However we can say that only by
7T s it 2091 K17 RATDY 1RO, as the reason indicates since it is a ¥17°n. However by wnon where
there is no W17 — we do not believe any group of 2>7v more than the other; in fact we believe
neither group, then we follow the logical conclusion that the N7y is ¥1917 2v2; at the time of the
testimony. It is at that point when they (may) have lied. If the testimony is 1917 %03, then it is
understood that we cannot believe the Xnmax M7y either, since it is part of a disqualified
testimony.

— 111932513 933 XON MMPYT NTI09 DIVN NIYT NNPYVL YI9NT NIYIHY NON
However, according to the opinion that explains the reason X219 maintains ¥
D091 RWT X271 IXOM oMY is not because X1 w1Ton, but rather on account of the

purchasers’ loss."? Therefore here too by mwnoi, we should believe the o*7¥ since
it is H091 RI7 R2ATPY IXIN.

mooIN anticipates a possible answer and rejects it. Seemingly one may argue that we maintain

? They are not obligated to pay the 03P of o1 TwX> concerning the 7213, but only for the ar*av. In addition, the 213
has to pay the 93 "m7wn based on their testimony.
19 The 37 ninan amends this to read X9X 12 T2 TXY RIT WITN OM1 797 DWW 207 RA1T
' See footnote # 1.
"2 If we were to disqualify them retroactively, then all those buyers who used these 07v on their ipn "W (with no
way of knowing that these 0>7v will subsequently be disqualified retroactively), will suffer irreparable loss. Their
mvw will be voided. Therefore the law instituted that they become 109 only X272 1831, According to this opinion
there is no difference between nwn>;i1 and 7117, if we protect the consumer in the case of 717 the same protection is
required in the case of nwnom.
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D051 X177 X277 1801 when we entertain a mMmp?7 X7°05. However in our case, when both groups of
0’7y came to 72 together; even if we would rule that 2091 X177 ¥1917, there will be no R7°09
mmpP%7. These 0°7¥ did not sign on any documents between their 7737 and 7wnon. Therefore since
there is no realistic MMPY7 R7°09, even X217 admits that Y091 X177 Y7919, MOOIN rejects this idea:

— NIV NINNY 199N ¥9919Y YDA R MINIPYT X109 NIIDT NN 199N
And even in a case where there is no loss to the consumers; as in our case,
where they did not sign on any 70w between the 7737 and the 7wnaf, nevertheless

they are not disqualified retroactively even according to that opinion; which
maintains that the reason 2091 X177 827771 182n 27 79 is (only) because of MMP?7 X7°05. An TV is
always 2091 only 82791 18n, even if there is no specific NMP?7 X709 in that instance.

mooIn will now prove that (even) according to the 1% that 051 X177 X2771 1891, is on account of
mmp>7 X7°09, nevertheless they will always maintain that 2091 X177 827771 1897 even if there is no
nMmpY7 X7°00 in a specific case -

— NIWHY INNAD NIWD INN 12 NIIN NI ONN YA
Since the X723 queries there; in 7217 P75 what difference is there between this

opinion (X177 ¥17°11) and the other opinion (Mmp57 X7°0) —
— NPYT RO NIYJT NIPND 11199392 NIIN 9INP XD

And the X3 does not state that there is a difference between them — in a case

where there is no MmMpPY7? R7°05. The x1m3 could have answered that in a case where there
is no MMpPYT X700 there is a difference between the two mnw5. If we maintain the reason is
because on1r 7V is a W17°n then it makes no difference whether or not there is a X7°05 mMP5Y, in
all cases it is 2091 X7 X2771 X0n. However if we maintain that the reason is because of X7°09
mmpY7, then only when there is a X7°00 do we say 2091 X177 X277 180n, but when there is no X7°09,
we should maintain that 091 X177 y7915. The 83 however does not make this distinction. That
proves that the X713 maintains (even according to the reason of MMpP7 X7°09) that in all instances
whether or not there is a mMmMpPY7 X7°00 we maintain that 2091 X377 X27371 1X97.

In summation: the question remains; according to the P that X271 maintains X721 1R DM 7Y
5001 K17 because of MMP?7T X7°0; the same rule should apply to o°wnm 2>y that the testimony
becomes R2771 X1 9va. Therefore only the contradicted testimony (7P >7v) should be
disqualified but the uncontested testimony (Xn72X *7¥) should remain. Why does X27 claim that it
is an nwnom mv?!

mooIn has an additional question:
— 9999 XY NNIDYY 915 NTON 297 NIIN TIN0A 9INPT NOWP NV

And there is another difficulty, for the X713 will shortly state that according to
X701 29, who maintains that both groups of 2°7v that were wn>1 cannot testify in

the future (for they are [suspected] liars), no one argues; both 1M1 21 and x27 will
5
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agree that it is an nwn21m M7Y and we cannot accept (even) the testimony of ¥ni2aX. The simple
understanding is that since X701 27 disqualifies both o7y (as opposed to X171 27 who only
disqualifies their testimony in this case where they are 0°wn2m 0°7V); therefore we cannot accept
the testimony of Xn;7aR M7y since they are 0°2105 2>7Y.

— PV 1ND 1NY 2UNT NTDN 295 PIY DIYA 920D P81 KD 19N 297 ynvn

It seems from the X723 that 1''9 can in no way maintain like X7on 39, for 1"

considers them false 2%7¥. It seems from the X723 that 7am1 27 and X701 27 are mutually
exclusive. If we accept the ruling of 1" that the 2>7¥ are 9109, we cannot accept the ruling of 1",

that they are believed concerning the Xni7ax. NvoIN challenges this assumption -
— Pupa) N1N 2N ININT 19N 29 920 NNPYT 1YY N

But how does the X773 derive this; that 1m1 27 disagrees with 11"9, perhaps 1''9
maintains that he becomes disqualified (according to X701 27) only from now

and onwards; however ¥y1on? they are “Ww>. Therefore we can believe their previous testimony
of 728 M7v which was not contested.

mooin offers an answer on the second question:
— ¥NPa N295 19 NP NYT DIV 19905 NIIN XD 17910

However, we can say this, to explain why the X711 asserts that 1"7 and "9
disagree; we cannot reconcile them by assuming that 1"9 maintains X7 827771 1827

5001, because we do not follow the ruling of X237 in this case of Y091 X171 X277 X7
Rather we follow the opinion of »ax that 7091 X7 ¥y791%. It is assumed that 1"7 also maintains
5091 K177 Y917 (since generally [°2°72] 113 Xn39°7).

The first question, however, remains. We are discussing the opinion of X327, and it is 27 who
maintains 2091 X177 827791 1801, why therefore does he argue that it is an nwnam M7v?!

Mo0IN answers:
— VYPNT NIYID NONND NINYT NINDT AN

And it appears that we are forced to say that this X°210 follows the view of that

opinion that the reason X271 maintains 2091 R);7 827191 1827 is since 7 TV is a w7om.
It is therefore understood, as m»oIN mentioned previously, that this applies only to 2»»71T 277y,

" This second question (even though it seems similar to the original question) adds an additional dimension.
According to the first question moon argued that if 7091 X377 82771 1891 then we should believe the ®nmax m7v (at
least) according to X177 21 who maintains 121 77°Vm) 7%y °192 782 1. There is no 7109 in the 0*7v; it is just that we
cannot follow the testimony of either group since they are 1"Xr 2°w°non. However concerning Xnmax M7y in which
there was no mwnon we can follow their testimony. m2oIn is now adding that even if they become 0°9105 0> on
account of the 7wna7, nevertheless if we maintain 2091 X7 82771 127, that 9109 is effective in future cases, not in
their past testimony. Therefore the Xni7ax N7y, which was not wn31m and was offered before they became 07105 o°7v,
should be accepted (see footnote # 5).

" This is represented by the letter 'y' (7091 X171 ¥79%% 2 ) in the ruling that '2"3p 9"¥*'2 K3 X377,
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which are a v n. However by nwnai *7v where there is no ¥17°17 in the fact that we follow
neither group, then the ruling will be that the testimony is disqualified ¥79%%, and since the two
testimonies of XN7aRY 77°OK were said simultaneously (112°7 *75 7n), they are both disqualified.
This is what X217 meant when he said X7 nwnom M7V R since it is ¥1o17 nwnam.

A question still remains; how will the W% of MmMpPY7 X7T°05 explain our XM} where X217 argues
X°7 DWW MY XM? NI1BOIN continues:

— 91 ©YIYNM 1IN 39D X2 NPD 9N NIT 920 MNMPHT RPDOT NIwI»YY DaN
However, that opinion that the reason X217 maintains Y091 X7 827771 ¥On is on
account of nymP®7 X7°05, they will maintain that X219 never said such a thing to
1'"'9 that it is an NwWn™ M7V, Since X217 maintains that we always say (both by 72177 and 7wna)

that the 7109 is 827791 189, therefore the Xn7aR M7y which was not wnow will be accepted, as 1"
ruled.

moon will now offer a different solution to his question. Md01n originally assumed that we can
divide the testimony of the 2>7¥ into two parts; M7y Xn7aR and M7Y 79°58. We will maintain that
even though 7%°OX M7y was contradicted, but since 80728 M7Y was not contradicted, it should be
accepted. MmooIN supported this view from the X713 in 72171 concerning 2°7¥ who were O1» on
their testimony of 7r°2v but not on the testimony of 712°1x. The X723 there maintains that if we
assume that 2091 X7 X272 IR0 2 7Y, then OTNOR OTN°RT AM°20K but TR XY QTNK RDT 721K, and
we accept their testimony concerning 772°13 .n901N until now considered the two cases identical.
The x"2°7 will distinguish between the case of 7r°2v1 172°23 and the case of 719°98) RN7AX.
— 11299927 N¥DNY XINT 10 27 KYT NI TUN 12 PN 19229
And the R''397 is of the opinion that the case here concerning Xn72KX1 792X is not
similar to that case in 72177 P79, concerning Am*2wY 72713
—113% 9991 991 HN’aVI NN BNNT
For there, stealing and slaughtering are two separate issues. One can be liable for
72°13 even if he is not liable for fm°2v
— 5093 N)D NANYT 112 ORNON XY ONIPN XYT NAIIN 297
And therefore concerning their testimony of 573%13 for which there was no 217,
they are not am». We believe them that he stole. The liability for stealing exists
regardless whether he was 1210 afterwards or not. The two 2’2117 do not depend on
each other, therefore we can separate them since X217 maintains that an M7 7Y is

N277» BoBi. At the time of their testimony they were o w> o7y They testified that someone

stole. That testimony on its own makes the 213 liable to pay.
— 911 NY NNYYIN XD XHNANRT NHNANN ) WINININ NYIINN WINININ 29 N9N NYN

However here it is different, since the testimony concerning XniaxX is dependent
on the MY of 79°2K as MoOIN continues to expound. When they were discredited

7

TosfosInEnglish.com



7°% R "7 'oIn X,X5 22 .7"0a

concerning the 7p1m; the other 0°7¥ claimed that the other party made the fpim,
they are also discredited concerning the parental testimony; we cannot accept
their testimony that it belonged to his parents, even though no one is contradicting
them. The reason is because the two testimonies of 79°28 Rn7aR are intertwined for
testifying merely that it belonged to his parents without testifying concerning the

1P, is not sufficient to grant him the property, even if it indeed belonged once to his
parents. If we were to verify that it belonged to the parents of one of the litigants (721%7) but the
other litigant (17v»W) has 0*7¥ that he made a P11, the ruling would be —

— PN Y NYINT YTND MY IONRT D792 199991 M1
We would have placed it in the possession of the one who has witnesses that he

made a 7?11, The reason why 1wnw who has 7pm >7v would retain it even though he has no

0°7v to support his claim that he inherited from his father, is because —
— NNIAT 70 99N 2 INT NN Banx 01 Sman Yv 1nvn Y INYT

He is believed to claim that it belonged to my father for one day, since he has a

o, for he could have said instead I bought it from you (721%7). The 3» establishes
that his father owned it at some point (after s'J2187 parents). 1Wwnw will retain the property for he
has a mIvv 7ay Ww apm.

The M7y of XNAAX alone cannot grant the property to 721X7 (as just explained). In fact if the o7V
testify only that it belonged to s'123X" parents, the property will be awarded to 1nynw. The only
strength of these 2°7¥ is if the claim of XnfaX is combined with the M7y of 7%°2X. This M7y must
be viewed as one whole M7Y, not as two separate n7¥. Therefore since the M7y of 79°OK was
wnam, it is a Awnon of the entire M7V including the N7y of XnA2X. It is not similar to 7y 72°13 >7Y
a1,

There still remains, however, a certain difficulty with this answer. The %773 shortly will initially
maintain that the dispute between 1" and X271 parallels the dispute between ¥1177 27 and X701 27
respectively. 1"7 who states that we accept the XnmaRx m7v agrees with X117 17 that the M7y
2wnoM are still @7w>d 2°7Y in the future, while X217, who states that we cannot accept the m7y
XN7AR agrees with X701 27 that the Dwnom 2>y are (PHon) °700 2°7Y in the future. The X3,
however, retracts this assumption. It is possible that 37 can agree with &1177 27 that these 0°7y are
qw> in future cases — NIAR M7Y; it is only in the very same case — M7T¥Y 7NIR?, that X297 maintains
that they cannot be believed. This X713 implies that originally we assumed that M7y 7mX and M7Y
nnX are equal (otherwise there would be no comparison). If they are believed nanx m7y% (the
view of X177 27) they should also be believed N7y MRY (the view of 1"); if they are not believed

' Even if 1w originally claimed *max 5w, he can still restate his claim to mean T'max» Mp9w *Max 5w, (in order
not to contradict 2°7¥ s'723X1 who say it belonged to 127 parents). 1wnw will be believed on the basis of the 1n,
and would be awarded property since he has a 7pim.
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(%27) 7Y 7MKXY they would not be believed (X701 27) nNR MTY%. MOOIN poses his question:
209591 AN NY NINK MTYI NI 1Y BPYNT SHIN 171593)
However, since as of yet before the final X1pon of the X713 that the X723 considers
our case of Xn9oX1 Xn7ax like an nnX M7v; that the two testimonies are not
entwined, but rather they are separate testimonies, as in the dispute between 71"
and "7 which deals with PR M7Y; and X237 cannot agree with 7" (even though it
1S an NINX M7Y) but must follow the ruling of 1"7. Therefore, the answer of the

X"27 will not appropriately resolve the difficulty; for if they are separate testimonies
(nanX M7Y), then, since X211 maintains 2091 X177 X277) 1821, the M7V of XN7aR is separate from M7y
77°2%, and should be accepted. [Or conversely:] The X"2> distinguishes between the case of 72°1)
72wy which are two independent n17v, and XnNaRY 79°OX which are dependent on each other and
considered as one. If this distinction is inherent in understanding X217, then how could the X773
assume that MR M7Y and NN M7V are the same? We see that X217 distinguishes even M7y N2
whether the two N7y are entangled or not. Certainly X273 will distinguish between M7y 7nX and
nanR M.

SUMMARY

X217 maintains 7091 X177 827377 1801 a7 7. If this is because X7 wI7°17 207 79, then
by nwnon it will be ¥y191% 091, However if it is because of mmpY7 X7°00 then by
mwnan it will also be 27791 180 2091, According to this latter view 827 will agree to
1"7 that the ®niaR »7v is valid (just as the 72°13 *7¥ are valid) since it was not
contradicted.

The &"2° distinguishes between 712°13 >7v which is not entwined with 72V 7V as
opposed to XAk >7v which is dependent on 79°2R *7v, and therefore the entire
testimony is 7109 even if we maintain the view of mmpH7 X7°05.

THINKING IT OVER
1. Every nn17 is automatically a awnaf. If we assume the reason of w17°m omt 7y,
%177 should not the o°»m1 0°7v be poon MTY» 9100 from the time of their testimony?'’

2. mpoIn cannot reconcile the X"27 with the 7"0 of the X773 that it is comparable to
an nnx M7y.'° Perhaps we can differentiate between the NInX M7Y concerning the
npYonn of 1" 3" and the "1 71 of the X"2. The nponn between 1" 7" is

' See “Thinking it over’ # 2.
7 See (XawH A"712) n"m.
'® See footnote # 16.
9
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whether or not these 27V are (now) considered to be liars. According to 7" that
they are not liars, and are believed in other (future) testimony, then the Xn7ax M7y
cannot be considered NwnoM since the 07y are "o w3 and XNAaR is an DR MY
than the 7°9% M7y (even if they are entwined). We must conclude that X217 agrees
with "9, that they are liars. Once we assume that they are M7y 9109, we cannot
separate the testimony of XnnmaR from 79°OX, since RNIAR requires 7172°2X, making
727K RN7AR into one 77A7, and this 777 is offered by o909 27y (X279 XN
9'"9y). 2!

' This would be true (in the 7"0) even if we maintain Y091 X171 ¥791°, for there is no 2109.
%0 Even the 72°9% n17¥ is not considered “false’; we just cannot deal with it since it is contradicted.
*! See omak nona.
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